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(v) aﬁmﬁwvﬁ%ﬁamz
Instructions:

()  Solve all questions.

()  Solve the question as per Instructions.

(ilf)  Marks allotted to each question Is mentloned agains! each question.

(Iv) Draw the neat and clean dlagram wherever required.
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Plx)=x +5 Y% Brm
® 5

© 10

R (-24 ) wqufer & ferg 2
(a) HuH

©

y=3x+5%1 ¥ 8|

8 T ufedra
€ WA

(b)
(d)

)
{d)

(b)
(9)

(b)
()

(1x5=s)

(arnfn
[arlfﬂ

4
agfife ¥9 A 3P

TS 2 3.4, 5. 0, 1.3.3. 4,3 31 g 2

(a) 2
) 4

Choase tha correct aption and write -

®

(i)

(W

™

(v)

Valve of a™a"is
@ @™

© (@M

P(x)=x+5 zero is
(@ 5§
© 10
point (- 2,4 ) is located In which quadran
(a) First .
{c) Third )
The sotionof y =3x +5 is
() aunique
{€) Three
Mooeol2,3,4,5,0,1,3,3,4,3is
@) 2
) 4

(v
(@)

{b)
(@)

(b)
(d)

(b)
(c)

(b)
(@)

(b)
(d)
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(125=5)
52 ww /yEa faa-
VIR SRCR R
(W wm@?ngaam;ngmel e B
(i r=mtﬁmmmm1aﬁgﬂmmmmﬁ""‘“"
v R P 3 Bl a1 am 350° Bren 2
v P &1 38 o <avbec 21
Whnie true / False -
()  Zerois a rational number,
(1) A polynomial o degree cna Is called a linear polynomial.
(W) An equation of the type y = mx represents a line passing theough the origin.
(v} Tha sum of the angles ol a triangle is 360°.
(v)  Hall the permeler of the tnangle is= a+ be C.
w3 R wmmt A O B (15=5)
0 6T I R B278)
i) AR MR TR E o 31 (@R BR)
() y- RSP T R (A R
V) TE F IBYLT NTFA..cc.. . st st s (XS X0)
v 5 oo @ v ) mftee YR AR ?dmed & (/@)
Fill in the blanks:
() TRE VAR OF (B4) VIS....c. it iaiieniiercineae e saresesasssesnrassrnsacn s snssmsesees (327 B)
(W) Apolynomial of twO termSis Called............cvmrericrrriesiinnrennnraenenn (Monoma@l / binomial)
(i) y-co-Ordinal® isSAY IO DA .......covvvvereeeceriieiier e nrnre e eeeen. .. (ADSCISSA/ Ordinate)
(iv) Curved SUace 283 01 ACONE = ....cov.cverureeeescaecrereesnesmresnssneee (AR /51
{v) The probability ol an avent lies between zero and ............cooveeieinne s cieeenine.. (2810 / ONB)
4 A T X/ T A In forfaw- o (1x5=s)
() TEIR ply)=y'yer B fATP(1) B 7 fofam |
i ¥« Ry @ Pt 8 &y
(H) VI D ATTEA BT YA 2N
v T Afrea st A wha R 1wl @ de B IR 2
(v) WP ST FA B GF W 8
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Wrie the answer in one word  senlence

@)  Findihe value pi1) for the polynomial P(y)e y -yt

@ Theco ordnates of the origin aro

(@) Formula of volume of cylnder is

(iv) Facis of ligures collecled with for a specific renson is called
(v whatis the lonnula of probability

af) AR TG

W (8)
o @ 133 A Fre did on waeh @ (A} Th wn
@ @ RN A rmR @i o wad (®) I AN
(@) UTA OB AR T c) o0°
v BRI G 7 wEa o, @ 360°
v TP F U@ TN F]Am Em (e) 180°
(h TJOWR
Match the column
(A) (B)
{)  Number of hnes thal can pass through a (a) Onelne
sngle poinl
(® The number of knes which pass through (b) Inlinne nes
two distinct points
(%) Value of straght angle (c) 90°

(v) Angles oppasie 1o equal sides of an sosceles (g) 360°
tnangle
(v} the sum of the angles ol a quadrdaleral is (e) 180°
{0 Equal

g6 (125)" & 7 WA P
Find the value of (125)" .
a1 / OR
2F5.2) = WA s i
Findthe valve of-  (2)°+(2)"
[18-806-E] [65) Page 4 ol 12
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w7 a4 RGH 6. 0) @ (-3, 5) 71 e i oo
Locate [he polnts (5. 0) and (-3, 5) in ihe Canesian plane
dU3 /OR
ifta 0@ A RN @ 5) o (-3 -5) a7 7m Frsien Afyre
Locato the polnts (2, 5)and (-3, -5) n the Cantesian plane

ue WY A ABCD TF TR wepfr & AELDC 3¢ CFLAD 21 afe AB. 16 cm. AE =8¢

MR CF= 10em AV AD 3T F)fdro | (2)
A ' B
F
0™ c
In grven fig. ABCD s a paralielogram AELDC and CFLAD # AB = 16 cm, AE= 8 cm. And CF= 10
cm. Find AD.
A 8
F
wl
0% c
AT / OR

mﬁﬁmacuﬁwmanmﬁwsﬁﬁﬁgé.aﬁmﬁ:aqmem

Ingive g E ts any point on medan AD of a LABC. Show that ar (ABE) = ar (ACE)
A

(18-906-E) [s5) Psge 5 of 12
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ge W6 WG P IUR H AH 105 cm &1 IR TN frdws Famd 19 om B, 50T TF
g dTEd W ARy @)
Diameter of the base of a cone is 10.5 cm and its slant height is 10 cm_ Find Its curved surlace
ares
JAval / OR
10 om PN TR TF G A T FA T &ABA A AN fr= 3.44)
Find the 10tal surface area of a hemi sphere of radios 10 cm. (use x = 3.14)
910 & 3 3 9 Ruha A (JF& frew %) cramddt 3 - @)
155, 180, 145, 149, 150, 147, 152, 144, 148, T AEHS| &1 ARAF FNA BIAC |
The heights (in cm) of 9 students of a class are as follows-
155, 180, 145, 149, 150, 147, 152, 144, 148 Find the median of this dala.
U / OR
it # o # 15 frefiEl 3 (100 # A) Prafafes aF wra AR 41, 39, 48, 52. 46.
62, 54, 40, 96, 52, 98, 40, 42, 52, Td 60. T TSI T WA WA P |
In a mathematics test given 10 15 students, the following marks (out of 100) are recorded- 41, 39,
48, 52, 46, 62, 54, 40, 96, 52, 98. 40, 42, 52 and 60. Find the mean of this data.
%11 3 3R 4 3 fim &7 ofvn wEd fPefed | @)
Find three rational numbers between 3 and 4.
3 / OR
fr= e ® ava Afe-
(3+J§)(3-J§)
Simpiity the following expressions
l‘.h-s@]b*\ﬁ]
[18-900-1) (5] Page 8 of 12
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f12 Prefafea Waw T B axabyecap & w9 4 T BT 3 a, b, ¢ T AA IAEL-

-2x+3y= 6. (3)
Express the lollowing liner aguation i the form ax+by+C= 0 and indicate the values of a. b and C.
2%x4+3y= 6.
JY9q1 / OR
Arefafaa ae & #A7 ga fafac-
3x+y=9
Write three solutions of the lollowing equation-
Ix+y=9
I3 wgfy § @t po SR Rs g 0 W wRredz Fwdh 2 AR LPOR.LROQ - 57 & @t T
Fro T HRAQ > ®)
S
0o
R
Q

In iig. lines PQ and RS intersect sach other at point O It £ POR: 2R0Q = 5:7. Find ail the angles.

wod surjuopteoqdur mmm//:dyy

3T/ OR
mﬁmhamw&gommmtmﬁcm;m-mvtm
¢BOD~ 40'2 @ .BOE 3R ude (COE T #Hfdre
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¢COE.

40°

D
16 @@ AR & B 35943 B U A 1 9 I S wh @ ww AR ©)

The angles of quadrilateral are in the ratio 3:5:9:13 find all the angles of the quadrilateral.
J4qr / CR

ABCD U& FHUHS &, 3R P, Q. A 3RS m:wnﬁns.ac,cnemonzhmﬁg%.
zafge & IgdW PORS U@ Sad ¥ |

ABCD is @ rhombus and P, O, R and S are the mid- poinls of Lhe sides AB, BC, CD and DA

respactively. Show thal the quadrilateral PQRS is a reclangle. http://“ww.mpboardonline.com

215 X 435 +3x+1 B (x+1) A 7 A W OG- 5@ | (a)

Find the remainder when x' +3x" +3x +1 is dwided by (x+1)
Jgar / OR

g A B 743x 3 +7x @ EEEEES § W A

Check whether 7+ 3x is a factor of 3x" 4 7x.
918 Preffaa wen g # i aa & a5 © Y A yraftra BRI

@ 1 AR - TIF) (a)

X -3 0 -1 4

y ?]—3.5 -3 4

[18-808-E) (65) Paga B ot 12
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Plot the followng ordered par of numbers as pornts on the Carnlesian plane (Scale 1cm = tun®

X 73T o -1 4
L i
% y 7 I:—.‘.Hi -3 4

‘ Fu=m / OR

Rg (-24)3.-D0.2)(-3.5) Frm vruir 7 fam 2

The pornts (= 2.4)(3.-1){12)(-3.-5) are locared n which quadran

\}4 maca&auﬂmmmgwac:.'—-zr.?{.‘%ﬁ#}zvﬂgqas.acaﬂ?mc

wod surjuopteoqdur mmm//:dyy

wHfgaEg &) (e)

L]
-~

8 "DL’ c

In 2ABC the brseclor AD of ZA s per pendcular 1o sce BC (from tg) Show that AB=AC and . AEC

1S 1505celes. A

3441 / OR

SR W e RETCI N AR P oo I (o4 A Ot g

Show that in a rght angied tnangle. the hypotenuse Is the langes! s.de

HAB 8GR Y per 31 q0a B § T ST T safta v 2

(«)

Prove thatl equal chords of a crcie subtend oqual angles al the centre

(18-906-E) (85) Page 9 of 12
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JUTT / OR
’“mamhmawmﬁiﬂﬂuﬁrﬁzmﬁg o I I B
gﬁam?wﬁnaﬂmﬁmmaﬂﬁm

Two arcles ol radi S ¢m and 3 cm intersect at WO Points ang the distance batween their cenires is
4 cm Find the length of the common chord.

gmfmﬁ'ﬂakﬂczﬂmmméﬁuw', AC."S'W‘B*BC.C*-11W

J ()
Construct 8 Inangle ABC in which £B = 60°. £C = 45° and AR , 8C+

CA=11cCcm,

A / OR

& Br{A ABC ¥ T PRAT R BCx= 7em. ¢Be 75+ 3R ABVACS 13 cm.
Construct a thangle ABC in winch BC=7 cm, £B=75* and AB.AC.

13cm.
a1 /OR
mwhﬂammmmmﬂmsammwma W IE
A9 42 em | | (4)
Find the area of a nangle two sides of which are 18 cm and 10 ¢&m and (he perimeter is 42 cm.
HYdQ1 / OR
& TqIA ABCD T &TFA T AT FORT™ AB « 3cm, BC = 4cm, CD = 4 ¢cm, DA = Som
A AC=5em &
Find the area o! a quadndateral ABCD in whach AB « 3cm, BC = 4em, CD = 4 ¢cm, DA = 5cm and
AC = S5om.
¥21 (& A I T B IHYLY S0 44 m’ & TR I B 9w A B o m 2,
AN R I I A (4)

Curved surlace area of a nghi circular cylinder is 4.4 m?, If the radius of the base of the cylnder is
0.7 m, hind ils hexght,

e 4 OR
W wm@mmmm Rl Brds Surg 21m R, §6@ IR W

R 24m 2|
Fing the total surlace area of a cone, if ils slant hexght ts 21m and damaler of s base is 24m

[18-806-E] [65] Page 10 0f 12
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922 (Ha-25-3¢) T TR g (s)
Expand (da~-2b-3¢c),
Juar / OR
%“'ﬂ"\" Wt 7B W 77 4y’ —dy 41 B @RS Hfag

Factonse the lollowing using appropriate idertties 4y° ~dy +1.

92678 2+ y=7 B dta 7 R )
Wrile fiva solutions lor the equation
2x+y=7
JYdr / OR

-ﬁi/’z 3 (3.4) ™G 3y=ars7 @ I W R 2, Aa B 9w A
If the poini (3,4) les on the graph of the equation 3v=ar+7 hndthe value ol a.
“H2u wwmm1wmmsmtﬁm?.mﬁrﬂmmmﬂsrﬂm

TR 2T o 6D | (s)
A cuboidal vesse! is 10m long and 8m wide. How high must it be made to hold 380 cubic metres of
lhquid.

HYdl / OR

msun,ucmaﬂ?ummawawﬁwﬁgawcm‘rgmizmm‘flfea
R AT 2, 3 PR ORI F AmaE I e )

A right triangie ABC wilh sides 5 em, 12 om and 13 ¢m is revolved about the side 12 cm. Find the
Nolume of the sohd so oblained. http://www.mpboardonline.com

/uds ﬁnﬁrﬁ&ammwﬁmamﬁmﬁmmzuﬁmmﬁmmwssﬂm
x O R FJE B (5)

29,32, 48,50, x, x+2, 72, 78,84,95

The lollowing observations-have been amanged in ascending order. If the median of the data 1s 63
Find the value ol x 29, 32. 48, 50, x,x42,72, 78, B4 95

JYd] / OR
%mﬂWMﬁmmﬁ.maﬂmﬁmwmmmﬂfmﬂ

4T (WA B) [ 3000 [ 4000 | 5000 | 6000 | 7000 | 8000 | 5000 10000 | Q1T
Tt A wa| 8 | 12| 10| 8 61 4137 T
[18-306-E] (65] ) Page 11 0f 12
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Find the mean salary of 60 workers of a factory from the following table-

~Salary (i RS) | 3000 | 4000 | 5000 | 6000 [ 7000 | 8000 | 9000 w
Number of workers | 16 12 10 8 6 4 3 1 ﬂ

|20ﬁﬁmmmiiaﬁjﬁﬂ§qﬁaﬁm
(s)

¥ @ T A AE D Ad
frx 49 Ty SRR @ wRen A fd T

DEL 1 [2 |3 |4 35
SHRa aon @ WA | 40 |48 |42 | 38 41

Praffn @it @ afge A s 7 2
) e A3 A 40 } e A () @ 9 A 49 A A NA|

the 5 bags of seeds, and were kept under

Fiftly seeds were selected at random from each of
of seeds which had

standardised conditions favourable for germination. After 20 days the number
germinated in each collection were counted and recorded as follows-

L]
Bag 1 |2 [3 |4 |5
Number of seeds germinaled | 40 |48 |42 |39 |41

What is the probability of germination ol
(i More than 40 seeds in a bag.
(i) 49 seeds in a bag.

3erar / OR
/qasmﬁaﬁwmmmmhn#wﬂﬁﬁsmiﬂmmmaiﬂmanﬁ
WA A Miea g AT |

In a cricket maich a batswoman hits a boundary 6 times out of 30 balls she played. Find the
probability 1hat she did not hit a boundary.

e mmE S REYELEE S EESRASEs SESSAE ER RS S SarSASSaE

A
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